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(vi) Write down the labels of the formatting options that have been used for the 9
sentence formatting. L ]

dm=m0 ey 0.5 3 87:
P Q R S

R ¥V 05060 018 eCE B 18 80 - cmen 0
* gud erf¢n evneEHEIH.

B88umu B dmSewsT:

1 80680 ¢8m 189

2 anaOc yreww(font size) O18 B8O (Bewc BBO), vy ©z¥d® (bold), a1c B8
(italic), 327 9oz 4:2® (underline) 428 eces DOmews? 8OO

(vii) (a) Write down the label of the slide layout that can be used to contain title, 1]
some text bullets and an image.

C

* Coelaced gufud eviw emucmsin.

(b) Write down one good characteristic w.r.t.the maximum number of text lines [1]
that should be placed on a slide.
D60 e gr 88O 1k 8 Ve 5-9 ¢nd Bw gnw. e QZ’
S-G9
séfﬂﬂmzﬁ 8@6’&@5’!2 B c\z&)ﬂ
5,6,7,% Q

516/7/8/9 owd gwm 8613w BE OO & voesw:s

NoOTE: In the text book, the maximum number of text lines on a slide is recommended
to be within the range 6-9. However, 5 is also accepted in some references.

(viii) [ Write down the replacements for P and Q of the flowchart. | [2]

om0 Cn € 1 7 G:
P=0 Q=5
* P ow Q odacde gnlud orfew oonecmzin.

B88wnvA B8mFuwsy:

0Oand5/0e»n 5 w
0,5

O § e

80 - ominc ™ A ebim MG - CR e 20O 838 / g.00.0.(.08) Do - 2022(2023) / w-ealdn arned € 920 aiB
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(%) | first step of the waterfall model?

Why is it important to get clear/exact customer requirernents belore leaving the

(2]

o 318 gomaBledy, co Bubdd 4160w ABO0 ovd v Bubod udybe nc gned. edece
vidBed ©08dn MO qd®y BBD vud ¢beLm Ve RS LdESH BC ¥aeDd.
detd 05nhDewIst, am0as vddBwn wDEIHL Be® 40O wn vud dw edned BB

43 el 180 Beom a».

vYD IO CO:82F O2n® VO cn 2

+ 8o @8 gmiBed?, 8cn Bubdds ¢:60w A8 ous on Budss sdybe mc gaw /
o8B pmaBed? wdbdn uvddBe gdwn el v mnl vBe: HEOD WBwWD

L108®
* D168 ¢DamN Y6 FIHO vddB e D5 BBO grn 8¢ ¢dm DO

(x) [ Draw the expected output of the given HTML code fragment. |

—HTML : cugg
682 is a markup language
65 620° —=Java 5
@csbv, S8 2%, is a programming language -~
—=2.SQl \
TAVA coptbe] is a query language }
é‘sngO plo warlcs
vum ¢zt cRE ogTD.

A: vg8 goc e¢m -caa l
B: 6502 gocs - cRH 1 («-- 4)

v gmedsme (indentation) gondes @d.

% THTML", “Java" es» “"SQL" 216, 988 50d0e o gulud ocde OTNBEDTID).
— /
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(iv) | Write down the correct formuia that needs to be entered in cell P3 for correct copying. | [2]

— (03/0$16)*100
ownd

= (03/$0$16)*100

* gled ewew emnnEmsID.

v) From line and pie charts, which is more suitable to compare the changes [2]
of solar power generation of those countries during 2010-2021? Justify answer.

@58 gedcad / line

2B BDEHS: DO BBveD OB M 890 ne 00t 8O wwsiipw HBOD
83823 08 yedncB. dunw e wewstima A8 gy OO 4eds8.

s g8zt e | ogI».

A: 083 yeds - e |
B: 0006 &mdmn (vunn .87 Om)- cmeg 1

o 2eEDe® B8vwn 990 i 80 ne -
—  cOme B® womzieme HBOD ggey 088 ydns8./ ¢ »0OE BBvwH weesIeme
ABBOD 368y @81 yeI68.

o 268 8500 005680 (D EBHEHEO ¢ 08D yLISsEd.
o OSBHWD eI tewsTzne BBOD gay OO yasd.
o DO ye3Hs BHuwO #1800 855

£300B):

008 3163800 v BBvws g» (600¢F 12 & wewo dws 124 ). N BBy @b yeIced
9:8mewss 600 12 0 gee D6 12 8 e® g0wmd® Om® yded od€ 12 & yebamw
me mBe. »Ys, 6003 12 0 gec Busd 12 8 Bug® gows’ yedemns B8O ot 8 OO
ye8dwt 48w e D.

0998 ydme 88s "2010-2021 mcw ne @O OO @@ AceB cFveme’’ o
80w A0 wenstm. omed ednd, dv O dodn cOF ! gwm C§ ydmnes HO
(9 ®EedBwd wewm ggdy 12 gows’), 880 DO yesade Oz tygey @0.
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Raj (S150) joins school (for Grade 10) and is selected for Cricket team on 25/64/2023.
(iii) | He borrows a cricket bat (005) on the same day at 14:00:05 hrs. (2]
Write down the new records to be added.

Ommd c| 1 8z

Student — (S150, Raj, 10) " - ook % »
Borrowed_Items — (005, S150, 25/04/2023 14:00:05) A/ UL- LS ¢ @I B

: P@@ . HD
Y Budn» gfud dxnsww gDased. 5
¥V g9n0 Dg/edendd Bw 15 ® CneE nd. @g”o’)

* galuc ot (case) esw @B (space) ¢l eENBEHBID.
* 0@ed8 g16wd edendd Buwr B0 ¢ BEw® wiBe.

(iv) Which tables need to be joined to find the names of students who borrowed sports items 2]
on 05/04/2023? The type of item borrowed must also be shown.

Borrowed Items
Item
student

YV a2 ugm Baug 0@ 40xsed. ‘ \

= M.
* g0 gfus dmmes ogdu enwscesimn. M /‘1“2}"‘) Ab3Imo R e
* gwd eu (case) ww @b (Space) 6¢I8 GINBCHTID.

88w B dwuws:

8ug 09 p»®

80 - omcndy 1 c¥Hebm mHuES - CAS 200 83830 / g.om.e.(e.e0) dmos - 2022(2023)/ sreaidn fraes DE 42 a2 25
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ALTERNATIVE 2Z:

BEGIN

INPUT TD, D, VF, BF
Ir D #= L THEW

" DISPLAY "bicycle”
ENDIF

IF 5 < TD <= 15 THEN
IF D < 1 THEN
DISPLAY "bus"
ELSE
DISPLAY "school van"
ENDIF
ENDIF

IF TD > 15 THEN
IF VF < 2*BF THEN
DISPLAY "school van"

ELSE
DISPLAY "bus™
ENDIF
ENDIF
END
ALTERNATIVE 3:
> BEGIN \
W»@’” INPUT TD, D, VF, BF simple Oon @M
26
*pfﬁcl IF TD <= 5 THEN
g DISPLAY "bicycle"
ENDIF
| IF (5 <TD<=15) and (D < 1) THEN
B - DISPLAY "bus"
RABE ENDIF
2% BF P )
‘ IF (5 < TD <= 15) and (D >= 1) THEN
»’-CBF) :wmiwf?’ DISPLAY "school van"
28 F ENDIF
T\ 1 (1D > 15) and (VF < 2*BF) THEN
DISPLAY "school van"
ENDIF
> :521/ IF (TD > 15) and (VF >= 2*BF) THEN
z DISPLAY "“bus"
ENDIF
:‘< X END

\ "A g@)v)/ewc?
| 'B'T%p$ww63£b

G condidlay

as\lo OU*P“’\"‘
E I aiuka
SR
=

Ga
H - NG iy
Hd s
@ /)J%u@wc&o
SATLF 55N
qmcl.u\“'c(\\h‘w aQQ/Jﬁo
TX\EPQ‘nlﬁvd\dAm
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5. (i) [ Match the descriptions labelied P - S with the correct terms from the list. |

om0 R 0.5 9 8=T:
P — HTTP

Q — URL

R — 1P 88w / IP address
S — SMTP

* gxfud edqs exnecHEID.
.\__—-—‘-’4

Label S

(2]

Choosing from the list, write down the correct example suitable for each of the labelled

(n) items A to G.

(2]

A — 088 eyl / WordPress

B — .Ik/Ik . sl ERAD
C — owSecausted /Firefox

D — g /Google

E — 0808 /Twitter

F — JaaS

G — PHP

sun gEedn 888 Cra 88noxn.

EY10) ﬁDldg 2O - cRg 2

wos BOE 20 - e 1.5

4-53 B8 50 - e |

2-3 8 8968 0 - e 0.5

L n nd @29y M-
* glec efew emnnCHBID.

tabe S,

www.e-kalvi.com
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6.

)

(i) (a) to remove the two silent portions at the beginning and the end of song.

Explain the reason why vector files are more suitable than raster files to store 3]

images like institution logos that frequently need resizing.

(b) modified file.

626308 8w Bfud 08z = gi». 28 g4nd OO @8 Bedvews? Bwc mox» 8O,
Bifes@ 9Bmw 09188 »08z Bmg yodanwnt o 88ed. dx08 9Bm Bufed
985 38, B0 GO Omm 8NDE s dnewst V&EBOW Wdnd, wa ev!

025 @53 OO Omn De®sY BEDremn 306 a1o. 8827 gqudd D705t QwInOmWIDL 208
ez»d Bxins Bae (evd nih) »€ 0B A08. e®ect Bnd Yy rwmw ednd BB gdas

0 Ba¥n)S gm0 0008 cmiyy O 358 @O.
son fedn 888 ca g BE»0xTn.
é:_gy.ﬁ)ﬁ @B 85w 0823 ;@ a1 - CWG |

B: 608 goBmexst dmg me 80, Bfuc §@ 02 456 98w omwEE 00 - cCRB 1
C: 00308 9B8mws 0 & wdmd / 08 / 0p 00 dnrndedsi AESnen 6 §1 Ben

00 03000 yB ezned s CaA |

Explain how you would use the interface options selecting from those labeled A-F 2]

D 82 26, 8 0B @ @296 endd Qﬁgs_li‘_d_egj_mm

son quseds v88 cnq 8850sT. A M%N\‘A 9

A: 23 0 @5 6206 endc MO - 1 -
4 U CRR _"&@ Q"h

B: E S8 880 - cmeg | (¢-- A) 12 >0

v A, D o E 916 0055 g@56 0FacE 8w B0d 50, ge CRes Ca 05»e¢sI.
vV 8E8nd eewi D esw E 888 vd s y®readnf 02060,

* oCACOC gfud eWiw esneCEHBIS.

% D o» E oFacde g8 180 ¢ 88on viBw.

Write down the label of the interface option that you will use to play your [1]

B

% B ecdaced gBmnmnas 4180 ¢ BEun vifa.

80 - om:650; 10 TR b mTe s - CRY 300 633w / §.om.0.(w.08) Bwoo - 2022(2023) / arexidm qnes ©€ 40 qo
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7. (i) [ Match descriptions labelicd A-D with the correct terms from the list. | (2]

om0 CR<q 0.5 87

A—>8
B—4
C—-5
D—3

* eCaAcOC gtud obin emnLEHBID.

Do you agree to discard Sunil’s computer and buy a new one as the existing computer [ 4]
has become slow? Explain.

(ii)

BEwm v oudndis 00080 88nwmmw 9bn 80 hdBwsf O qm& O Beys gegdBOCO
¢ O 0. 882 ovn R vBnwmmw Oz3(® b7 g1». IO ewIws JDO 88w® ewdw

gne.

vun geds vB caw BEnoss.

A:op - CRG 2
B: ©27¢c8 880 e¥n 1> - CR 1
C: 090 onz? owiws A 800 BEw® cwiw une.- ce 1

8¢y BEnS vwn 88§ »iB 8nsim.
166 0D0wd 88omme 00 8 §86; 2O v Bt YV RO Eu/dB&he yrw."
0B BE56»d, B esv C wew Cryeg | 91827 8¢ e 2 = ogsi».

iii) Write down one method to avoid plagiarism when reproducing information 2]
s from the Internet.

2305 928un B ¢ g¥nsnnn 512280 B vy ginsoned §eogy egust B8O

svn D853 @O OBmd Cra 2 BEnosin.
o Eyd 3@ / citing
¢ 00 ©0 308 / quoting
¢ 08D utdO / referencing

& 3<>"> 1"9.6—‘59360&9_0’:9 N@n @"23 Gaé;v)

80 - omi606; 22 cIBoDeH e G - CAH §2® vdmda/ g.esio(o1.00) Bimoo - 2022(2023) / seaddn gnes D 420 oo 33






